

St. Louis County, Minnesota



Date of Report: 4/26/2025 10:22:54 AM

			General De	etails					
Parcel ID:	510-0020-02	290							
Document:	Abstract - 01	359979							
Document Date	e: 07/19/2019								
		Lee	gal Description	on Details					
Plat Name: PORTAGE									
Sec	tion 1	ownship	F	Range	L	Lot Block			
1	5	66		17		-	-		
Description:	S1/2 of S1/2	2 of NE1/4 of NW	1/4 AND S1/2 of	S1/2 of NW1/4 of	f NW1/4 AND S	1/2 of NW1/4.			
			Taxpayer D	etails					
Taxpayer Name	BIBEAU JAN	IES T & SHANN	ON S						
and Address:	6641 GOLD	MINE RD							
	BUYCK MN	55771							
			Owner De	tails					
Owner Name	BIBEAU JAN	IES T							
Owner Name	BIBEAU SH								
		Paya	able 2025 Ta	x Summary					
	2025 - N	let Tax			\$1,727.0	00			
	2025 - S	pecial Assessme	ents		\$85.0	\$85.00			
		-				\$1,812.00			
	2023 -		-		·				
	Due Mey 45	Curren	t Tax Due (as		) 	Total Dur			
	Due May 15		Due October 15			Total Due			
2025 - 1st Hal	If Tax \$906.0	0 2025 - 2	2025 - 2nd Half Tax \$9		06.00 2025	2025 - 1st Half Tax Due			
2025 - 1st Half Tax Paid \$0.00		00 2025 - 21	2025 - 2nd Half Tax Paid \$6		0.00 2025	2025 - 2nd Half Tax Due			
2025 - 1st Ha	If Due \$906.0	2025 - 20	2025 - 2nd Half Due \$906.00		06.00 2025	- Total Due	\$1,812.00		
			Parcel De	tails					
Property Addre	ess: 6641 GOLD	MINE RD, ORR							
School District									
Tax Increment	District: -								
Property/Home	steader: BIBEAU, JA	MES T & SHANN	ION S						
		Assessme	nt Details (20	25 Payable	2026)				
Class Code ( <mark>Legend</mark> )	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$43,100	\$91,200	\$134,300	\$0	\$0	-		
	0 - Non Homestead	\$131,000	\$0	\$131,000	\$0	\$0	-		
111	Total:		\$91,200	\$265,300	\$0	\$0	2308		



St. Louis County, Minnesota



## Date of Report: 4/26/2025 10:22:54 AM

			Land De	etails			
Deeded Acres:	100.00						
Waterfront:	-						
Water Front Feet:	0.00						
Water Code & Desc:	W - DRILLED WE	ELL					
Gas Code & Desc:	-						
Sewer Code & Desc:	S - ON-SITE SAN	NITARY SYSTE	EM				
Lot Width:	0.00						
Lot Depth:	0.00						
The dimensions shown are n https://apps.stlouiscountymn.	ot guaranteed to be su .gov/webPlatslframe/fi	urvey quality. A mPlatStatPop	Additional lot Up.aspx. If th	information can be here are any quest	e found at ons, please email Property	Tax@stlouiscountymn.gov.	
		Improvem	ent 1 Det	ails (25X45 RE	S)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
HOUSE	0	1,12	25	1,231	U Quality / 0 Ft <sup>2</sup>	1S+ - 1+ STORY	
Segment	Story	Width	Length Area		Foundation		
BAS	1	12	25	300	FOUNDA	TION	
BAS	1	16	25	400	FOUNDA	TION	
BAS	1.2	17	25	425	LOW BAS	EMENT	
DK	DK 0		6 6 3		POST ON G	GROUND	
OP	1	8	14	112	POST ON G	GROUND	
Bath Count	Bedroom Cou	unt	Room C	ount	Fireplace Count	HVAC	
1.0 BATH	3 BEDROOM	1S	-		0	C&AIR_COND, GAS	
		Improven	nent 2 De	tails (24X32 P	B)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
POLE BUILDING	1986	76	8	768	-	-	
Segment	Story	Width	Length	Area	Founda	ation	
BAS	1	24	32	768	POST ON G	GROUND	
		Improven	nent 3 De	tails (26X36 B	N)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.	
BARN	0	93	6	936	-	-	
Segment	Story	Width	Length	Area	Founda	ation	
BAS	1	26	36	936	FOUNDA	TION	
			-		~		
		Improven		•	3)		
Improvement Type	Year Built	Improven Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
Improvement Type GARAGE	<b>Year Built</b> 0	Main Flo 28	oor Ft <sup>2</sup>	•	Basement Finish	DETACHED	
GARAGE Segment		Main Flo 28 Width	bor Ft <sup>2</sup> B Length	Gross Area Ft <sup>2</sup> 288 Area	Basement Finish Founda	DETACHED	
GARAGE	0	Main Flo 28	b <b>or Ft ²</b> B	Gross Area Ft <sup>2</sup> 288	Basement Finish	DETACHED	
GARAGE Segment	0 Story	Main Flo 28 Width 16	oor Ft <sup>2</sup> 8 Length 18	Gross Area Ft <sup>2</sup> 288 Area	Basement Finish Founda POST ON C	DETACHED	
GARAGE Segment	0 Story	Main Flo 28 Width 16	bor Ft <sup>2</sup> B Length 18 nent 5 De	Gross Area Ft <sup>2</sup> 288 Area 288	Basement Finish Founda POST ON C	DETACHED	
GARAGE Segment BAS	0 <b>Story</b> 1	Main Flo 283 Width 16 Improven	bor Ft <sup>2</sup> B Length 18 nent 5 De por Ft <sup>2</sup>	Gross Area Ft <sup>2</sup> 288 Area 288 tails (SLEEPE	Basement Finish Founda POST ON C	DETACHED ation GROUND	
GARAGE Segment BAS	0 Story 1 Year Built	Main Flo 280 Width 16 Improven Main Flo	bor Ft <sup>2</sup> B Length 18 nent 5 De por Ft <sup>2</sup>	Gross Area Ft <sup>2</sup> 288 Area 288 tails (SLEEPE Gross Area Ft <sup>2</sup>	Basement Finish Founda POST ON C	DETACHED ation BROUND Style Code & Desc.	
GARAGE Segment BAS Improvement Type SLEEPER	0 Story 1 Year Built 0	Main Flo 28 Width 16 Improven Main Flo 43	eor Ft <sup>2</sup> B Length 18 nent 5 De por Ft <sup>2</sup> 2	Gross Area Ft <sup>2</sup> 288 Area 288 tails (SLEEPE Gross Area Ft <sup>2</sup> 432	Basement Finish Founda POST ON C R) Basement Finish	DETACHED ation BROUND Style Code & Desc.	







Date of Report: 4/26/2025 10:22:54 AM

		Improve	ment 6 Details (1	8X40 LT)					
Improvement Typ	e Year Built	-	•	-	sement Finish	Style	Code & Desc.		
STORAGE BUILDING 0		72	0 72	20	-		-		
Segme	nt Stor	y Width	Length	Area	Foundation				
BAS	1	18	40	720	POST ON C	GROUND			
		Improv	ement 7 Details	(Trailer)					
Improvement Typ	e Year Built	Main Fl	oor Ft <sup>2</sup> Gross A	Area Ft <sup>2</sup> Bas	sement Finish	Style	Code & Desc.		
STORAGE BUILDIN	NG 2009	32	.0 32	20	-		-		
Segme	nt Stor	y Width	Length	Area		Foundation			
BAS	BAS 1		8 40 320		POST ON GROUND				
		Impro	vement 8 Detail	s (6x6)					
Improvement Typ	e Year Built	Main Fl	oor Ft <sup>2</sup> Gross A	Area Ft <sup>2</sup> Ba	sement Finish	Style	Code & Desc.		
STORAGE BUILDIN	1G 0	30	6 3	6	-		-		
Segme	nt Stor	y Width	Width Length Area		Foundation				
BAS	1	6	6	36	POST ON C	GROUND			
	:	Sales Reported	to the St. Louis	County Audito	or				
Sa	le Date		Purchase Price		CR	V Number			
07	7/2019		\$175,000			232990			
11	1/2014		\$175,000			208658			
11	1/1994		\$55,000			103002			
		A	ssessment Histo	ory					
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
2024 Payable 2025	201	\$43,100	\$87,100	\$130,200	\$0	\$0	-		
	111	\$131,000	\$0	\$131,000	\$0	\$0	-		
-	Total	\$174,100	\$87,100	\$261,200	\$0	\$0	2,264.00		
	201	\$41,700	\$90,300	\$132,000	\$0	\$0	-		
2023 Payable 2024	111	\$124,700	\$0	\$124,700	\$0	\$0	-		
	Total	\$166,400	\$90,300	\$256,700	\$0	\$0	2,313.00		
	201	\$38,600	\$75,400	\$114,000	\$0	\$0	-		
2022 Payable 2023	111	\$111,100	\$0	\$111,100	\$0	\$0	-		
	Total	\$149,700	\$75,400	\$225,100	\$0	\$0	1,981.00		
2021 Payable 2022	201	\$30,100	\$65,200	\$95,300	\$0	\$0	-		
	111	\$74,100	\$0	\$74,100	\$0	\$0	-		
	Total	\$104,200	\$65,200	\$169,400	\$0	\$0	1,407.00		
		-	Fax Detail Histor	у					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land M	Taxable Bui V MV		al Taxable M\		
2024	\$2,063.00	\$85.00	\$2,148.00	\$158,389	\$72,951		\$231,340		
2023	\$1,809.00	\$85.00	\$1,894.00	\$140,565	\$57,555	5	\$198,120		
2022	\$1,387.00	\$85.00	\$1,472.00	\$95,147	\$45,590	)	\$140,737		







**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.